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1. Let p{x) be a polynomial. When pix) is
divided by (x-1), it leaves 2 as the
remainder. When p{x) is divided by
(x-2), it leaves 1 as the remainder.
'-’irlul is the remainder when p{x) is

divided by (x - I)(x - 27
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4. Let x and y be natural numbers,
each less than 20, such that x, .
X+Yy and x-y are prime numbers.
How many such combinations of
(%, ¥, x+y, x-y)are possible?

@ 3 g oIS S 2 3,558,017 19
Sl 2 7-3 () Two e
e . B () (e Three Sis I ek
3 J"'-If"' ’Erfb
fed 3-x Ty - ':.! ﬁ:ﬂ None
(d) 3-2x :‘iﬂ’_,—)
T 5. lrlnmnpuxfwl ¢* - 1, then what
‘ ﬁg i
E.Cnuuid:rﬂitfﬁlhwhginrespmlu!a T gf& ?).r
positive real number x : {ﬂ'f'—l EH.R.:{“* :
T (4 ,q-?'},.!":.
I. x+l:] A {__;.JL- v o 5“'?
x _r..-l
142 “E- 1 U;h} U;]
1. [x+;} =2 ,._3—-— fd] Cannot be determined
; gt o
Im. [r*—%) >9 _E:::'_!ﬂ’ .Eﬂ 5. If 2+3)* +2-43)° =2, then what is
B 2 R2++43)* -@2-J3)* equal to?
Which o - Ve are correcty
fa) ©
fa) 1 and IT only [
bl 0-5
(&)1 and I only -{:1
fe} 1 and III only [ 1.5
fd) 1, I and IN
i led Sunmwd gl 23 4
3. Let p and g be natural numbers such a b 6 a? p? 36
that g> p. What is the largest value of what is — + — equal to?
p such that q'z - 5p -4 is negative? g "'.!.- f] 2 |
s 14 T T (s o v “n 7]
¥ 7 ‘;

4 -0 (b ~35 /216 I ur ‘
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A [d) 417216 ,L (T
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g4. In o village conmisting of p persons, x%

can read and write, Of the males, only
Y% can read and write. Of the females,
only 2% can read and write, If X U>z,

then what is the number of males in the
village?

fa) plx-2)/ly-z) F’
b} ply-2)/(x-z) 1*.
el pxfy
@ py/x

65, Xand Y are two alloys of copper (Cu) and

zine (Zn). Alloy X is prepared by mixing
Cu and Zn in the ratio 5: 4, and alloy Y
is prepared by mixing Cu and Zn in

the ratio 5:13 respectively. If equal
quantities of alloys X and ¥ are melted

to form a third alloy Z, then what is the
ratio of Cu to Zn in Z 7

fa) 5:8
M:T
fel 6:7 S‘

(d 7:8

56. Two students X and ¥ appeared ina l.i:ll

The score of X is 20 more than that of ¥.
If the acore of X is 75% of the sum of the
scores of X and Y, then what is the ratio
of score of X to score of ¥ 7

‘-bul e0

fa} 5:1

ﬁ}*ﬁ)’ ¥+~?t«
q ntans U +20
X680 = Y
74460-RO= T

[dj:] 2

= 20
2 Yeld

l"""l r

:J-:x’. :J:«’- 42/

p 8
V] _,,,a n?l 4,437
fﬁ% \‘f:. e

fa] 4<x<06 %

87. If one root of the equation

2x? ~Spx+2p? =0

exceeds the other by 4, then what is the
value of p?

fa) 8/3
(b) 4/3
fe) 2/3

() 1/3

88. An amount of ¥ 10,000 is borrowed at

10% per annum on compound interest
for 3 years, compounded annually,
and paid back in 3 equal annual
installments during these years. What
is the amount of each installment
(approximately)?

\Dl%% EJZ'} fe) 4,021

(d) T 3,811
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fb) 3<x<5
fe) x<3orx>5

f) x<4 or x>06
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B9. What is the solution of the inezlu’l‘;%h
Sx+3<Bx-9and 2x +20>5x+27 T, 0
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Q§ 60 A shopkeeper gives three consecutive
discounts 10%, 20% and 25% afer
which he sells the article at a profit of
8% on the costl price. Had he sold the
article after the first discount, how sy 7P unlls P e

63. ABC Is a triangle right angled at B. P s
the midpoint of AB and Q Is the mid-
point of BC. Consider the following :

much profit would he have got? II. CP=4+52 units R
b fa) 20% b @b 1%/ Which of the above isfare required to
) 40% lgﬁ,'ﬁ'ﬁ' - ol i?g f%&fi%%lcmint the area of the triangle?
100 H S 1 only
fe) 50% 40 5 = e PR~
b = ) Il on
N fth
(d) None of the above a1 _Eﬂ-nmla.ndll %—
61. Let AD be the altitude of a triangle ABC. (0 aMote inkrmetion ' booled %
If (AB+AC)=p, (AB-AC)=q and
(BD - CD) = r, then what is BC equal to? 64. The length, breadth and height of a
cuboid are consecutive integers. Il the
fal qr/p volume of the cuboid is 336 cubic units,
then what is the total surface arca of the
) pria cuboid?
A o R D) (zt2=12
fe) palr
87292 square units 2(1& ‘
[ pta=r (¢) 296 square units 1!31',15
fdl Cannot be determined due 1o
62. The sum of the height and the radius of a insufficient data
right circular cylinder is 21 em, and the '1( 3¢
radius is less than the height. If the 65. In a circle of radius 14 em, AFB is a T
curved surface area of the cylinder is shorter arc and P is the midpoint of the gé
616 cm?, then what is the volume of arc. Let C be the midpoint of the chord 7 28
the cylinder? (Take n =22 /7) ABand PC= 7 cm. What is the length of
s the chord AP? ‘l ['-{
fal 1078 cm A
: Rari=a e Saep e *P:\;:fq' :;:'
k) 1617 em () T cm ‘2
hy A g 639
fe) 1927 em® fe) 10-5em q ‘
2 gley - 3= ?f'f-zﬂr i
(d] 2156 cm -
g2l -ﬂ:’% A Grle= . e
ﬂ g ? |tf [P.T. .
ANFB-T-EMT/45A ok 2% (&%
‘HL FML{ l :ul"'r E-F_
U ﬂ% ¥ of
76 %

12y o "I 3 o g
-? \Moa b /é‘/w il Zip ﬂl :






71. In a tnangle ABC, 7A = 320°. AB =7 em

and AC = 12 cm. What ia the area of the
triangle ABC?

fa) 21 em?

i

/NN
b 21J/3 em?
IS O ¢

fe) 42 em*

R

T4. An angle & is exactly one-fourth of its
complementary angle. What is the value

of angle &7 |
(@ 12* g0t |
> |

3 1

fc) . 18*

[
$0 =220
..r"-'.. \LL ff 4 I y = -:}I""'
(d) 20° T ¥ 45 a0
fd) 4243 em? S w

72. ABC 13 a tnangle right angled at B
Dis a point omn AC such that BD is
perpendicular to AC If ABE=p and
BC = J/3p, then what is BD equal to?

75. The sides of a triangle are 11 cm, 60 cm
and 61 cm. What is the area of the
triangle formed by joining the mid-
points of the sides of the triangle?

fa) 165 em?
fal pl3 I :é: / Il
$1€> ) 110 cm?
m pl2 T 66
5 fc) 825 cm? Je-d 58
() 3p/2 A7 ) J_Gi‘lﬂw)ﬁn
" {21
[d) 72.5 cm? Y
fd) 3p/4 & 179
——%L
. - - 76. A pendulum swings through an angle of
TR Sl ronee h:u:lwe::;: ::E:G:t::ii 30 and its end describes an arc of
and an : c:t:; R 1t SR length 55 cm. What is the length of the
i‘_":“” “f ':h e pendulum? (Take & =22 /7)
£8 O =
0. 120 @ 9 He
o - fa)l cm 18
@9 o o - B2 e A
..'.f-;‘n""d ¥
{b) 10 =

}BD, » fb) 100 cm -
3 o
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g1, A Question is given followed by two

ANFB-T-EMT/45A

Statements | and II. Consider

: the
Question and the Statements

Question :

What is the remai :
L2 2 mainder when

y=" +1is divided by x" + *,
where n is a natural number?

Statement-1 :

n is odd.

S-tnfmmcnt—li .

n is even.

Which one of the following is correct in
respect of the above Question and the
Statements?

fa) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

fc) The Question can be answered by
using both the Statements
together, but cannot be answered
using either gratement alone

id] The Question can be answered
even without using Aany of the
Statements

31

B2. A Question is given followed by two

Statements 1 and II. Consider the

Question and the Statements.

Question :

The product of a natural number N
and the number M written by
the same digits of N in the
reverse order is 252. What is the
number N7?

Statement-1 :

N+ M=33

Statement-11 :

N> M

Which one of the following is correct in
respect of the above Question and the
Statements?

fa) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

{b) The Question can be answered by
using either Statement alonec

fe) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

{dl The Question can be answered
even without using any of the
Siatements

[PT.O.
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5. A Question g Eiven I‘n]l-nw-ed by twe
Statements | gpuq 11, Consider
Question and the Statemenig :

Question :

In a triangle Agc
i
AC=20cm, What ?,]':l il gt

radius of the triangle?

Statement-] :

AB = 12 pm

Statement=I] :

BC= 16 cm

Which one of the following is correct in
respect of the abeve Question and the
Statements?

fal The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

b} The Question can be answered by
using either Statement alone

fe} The Question can be answered by
using both the Statements

together, but cannot be answered
using either Statement alone

(d) The Question can be anawered
even without using any of the

Statements

a5
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B6. A Question is pgiven followed by two
and Il
Question and the Statements.

Statements | Consider the

Question :

ABCD is a parallelogram with
£ABC=60° If the area of the
parallelogram is 7+/3 square units,
then what is the perimeter of the

parallelogram?

Statement-1 :

The lengths of the sides AB and DA
are prime numbers.

Statement=II :

The lengths of the sides are natural
numbers each greater than 1 unit.

Which one of the following is correct in
regpect of the above Question and the
Statementa?

fa) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

{B] The Question can be answered by
uaing either Statement alone

fe) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

fd] The Question can be answered
even without using any of the
Statements

| P.T.O.







89 A Question |,

BVen followed
Statements | Y i

and . Consider {he
Question and the Slal.ernentu.
Question -
ABC is an i808celes trin i
{
rais ngle with

10 unita, If
the triangle j5 48
then whag i8 the |
base BC?

the area of
quare units,
ength of the

Statement-] .
The length of Beig an even integer,

Statement-1]

The height of the triangle is greater
than the length of half of the base,

Which one of the following is correct in

respect of the above Question and the
Statements?

fa) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b} The Question can be answered by
using either Statement alone

fe} The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

fl) The Question can be answered
even without using any of the
Statements

ANFB-T-EMT/45A

90. A Question (s given followed by two

Statements | and | Consider the
Question and the Statements,

Question :

The dingonals of a rhombus ABCD
are in the ratio 5:12 Is one of

the diagonals equal to side of the
rhombus?

Statement-]

The sum of the diagonals = 34 cm.

Statement-1]

The length of a side = 13 em.

Which one of the following is correct in

respect of the above Question and the
Statements?

fal The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

() The Question can be answered by
using either Statement alone

fc) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

fd) The Question can be answered
even without using any of the
Statements

| B.T.0.










